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-. 8 . 7 A

1. ↓ ABC, (B= 90; AB = 24 em, BC = 7 em

Using Pythagoras theorem 24 em

Ac = AB2 + BC
4

or AC 2 = 242 + 72 B
7 em C

or AC2 = 576 + 49

or Al = 625

or Ac= 25

or AC = 25 em

① SinA =& = Es

CotA = ABC = Ens

⑪ Sinc = AB =

Ze

cosc=- = Es

R

2 . In APQR
,
LQ = 90, PQ = 12 en

,
PR= 13 em

Using Pythagoras theorem 12em 13em

PR = PQ + QR2

or 13 = 12 + QR*
Q R

or 169 = 1 44 + QR

or 169-144 = QR2

or 25 = QR 2 tanP-cotR

or ES = QR = 3- *
1 2 12

o QR = 5 em

tan P =
=

2

= O

cot R = Ra =
2
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C

3-AinA =

y

or &P= B
A

Let BC= 3k

Ac = 4k

Using Pythagoras theorem
Ac = AB+ BC2

or (4k)" = AB2 + (3k)
or 16k = AB2 + 9k2

or 16k- 9k = AB

or 7k2 = AB2

or AB = F k

Cot A = B =
k =

tanA==Rp =
C

4 . 15 cot A = 8

or cota=
15

or AB=
B A

Let AB = 8k
,
BC= 15k

Using Pythagoras theorem
AC = AB2+ BC2

-Ac= (8k) + (15k)
or AC = 64K2+ 225k"

or AC = 289k2
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or Ac=9

or AC = 17 k

SinA=*E= =

Ar A = A = -=

A

5 . Acc O = Es
B 0(

d

or A=

Let Ac= 13K
,
BC= 12k

Using Pythagoras theoren
Ac = AB + B22

or(13k)" = AB + (12k)
or 169k = AB + 144k

or 169k -144k2 = AB2

or 25k = AB L

or ESK = AB L

or 5k = AB

k↳SinO = AB =

+3=

good=ie
coseco = =E = Es

Not o= =
= 1 2

5
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E F

6. COA = CotB(given)
or E =

E C

(
A

(

Let A=* =
kee A =A =

k" B

: AC= kBD - Q

AE = kBF -

Using Pythagoras theorem
In A ACE

,
CE= AE-AC2

or CE = (kBF)" - (BD)" (using eg . Q)
or CE = k' BF- k BD2

or CE = k (BF2-BD4-
InABDF

,
DF= BF -BD .

Dividing e.g. by Q

= k(BF2- BD2)
BF2 - BD2

or
=
k

Taking square root on both sides

= k

:

G = A = = b

:. AACE-ABDF by SSS similarity
:

.
LA = LB (corresponding part of similar triangles)
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C

7. cot O= 7
j

or AB =
O

B A

Let AB = 7k
,
BC= S k

Using Pythagoras theorem
AC = AB + BC2

or Ac = (7k) +(8k)"
wh Al = 49k + 64k4

or Ac2 = 113k2

or Ac=k

or AC = #15 k

siin O =

= R=

Cos0 = B =

p=3

① ( + sinD) (1-sind)
# + cos0)(1-cos0

= As x#

( + 3)(-
-

(+ + 3)(+ - ) -

(1)- (5)
u ⑪ cot O

(2 -(5) =(
=# = H

1 13
1 13 - 64
-

113
E

113Ee
1 13
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C

8. 3 cotA = 4

or cota = 1
3

B A
or AB=

Let AB = 4k
,
BC= 3k

Using Pythagoras theorem
AC = AB + BCE

or Ac = (4k) + (3k)=

or AC = 16k + 9k2

or AC = 25k

or a = Est

or AC = Sk

tan A=
Air A = C = =

COSA = AB, =A=
2. H . S. = tara = x*

= = Es

↓G = () - ()=
R. H . A = Cos "A-Air" A

= As - A s

= Es
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.. 2 .H . A. = R. H. A .

↑

. ar2A COSA-Ai e

C

9. tanA=
or =

I
B A

Let BC = k
, AB= 13 k

Using Pythagoras theorem

AC = AB2 + BC

d Ac = (15k) + k

or AC2 = 3k + k2

or Al = 4k2

or Ac = 2k

sinA=B =

p
= Sinc = AB=k=

CosA = B = = cosc= = k=

① SinA cosC + COSA sinC
=

-E
= Ex + x

= O

= E +

=
*x

- 1

⑪ COSA rotC-AinA AinC

I & x E - Ex
2
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R

10 -

·

- A APQR
,
LQ = 90; PR +QR= 2Sen

,Gwen--
PQ = 5 em

solution - PR + QR = 25 em (given)-

or PR = 25-QR - Q Q7 P&

Using Pythagoras theorem
PR2

= PQ + &R2

or (25-QR)= S + QR [Using equation 0 and PR= Sen]
or (26) + Q R2 - 2x 25x Q R = 25 + QR

of 626 + QR-SOQR= 26 + QR2

/or 625-25 + QR -Q = SO QR

or 600 = So QR

or ar=
we QR = 12 em

Put the value of OR in equation Q
PR= 25- 12

or PR = 13 en

SinP= R = #

cosp =
=

3

tap= =

#False,
the value of tar A varies from o tot

as O varies from 8 to 90'

-⑪ True ,
sec A = 12 > I
-

⑭ False ,
cosec A is the abbreviation for cosscant A.
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④ False
,
cot A is not the product of cot

and A . cot A is the relation between the

angle A and sides of the triangle.

① False
, sinOF as t 1 . OsinO for

0 1 0 90
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